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AEl (Stack)

ElHf (Stack): 2 RIMZE(LIFO: Last In, First Out) &S IE= X2 X

AR REEUEE C429) 7|SS5S HBE (AR0| 4 X2 H),

create() : H{HRU= AES Hd = Bret

isEmpty(s) : A8 s7} H{{QU=X] =telat

isFull(s) : ABH s7F & XIQUE=X| &holet

push(s,x) : 2B 9| 71% 2|0f| =01l MZ22 H[O|E] x& F7}
pop(s) : AEH 9| 71& {0f| U= GIO|E|E ArA|ot Hhet

peek(s) :AEHsO| JHE 2 L|O|EE M|7HSHA| 2210 Hiet

ADT of Stack in Ocaml: https://ocaml.org/manual/5.2/api/Stack.html



https://ocaml.org/manual/5.2/api/Stack.html
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push : 2Bl (stack)2| 7t 2| (top)dl FHZE! MZR IO E 7t
- FItEl HIO|R7 AEHO| JtE 2|0 f[X[stA =
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data2

datal

Stack

data
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fprocedure push(stack, item) \
if 1sFull(stack) then
print(“Cannot push. Stack 1s full.”)
return error() > failed
else

stack.top « stack.top + 1
stack.items|stack.top] < item

data4

data3

data?

datal

return > stack 1s updated
end if
uend procedure J
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top



» pop : 28(Stack) 2| 7t 9l(top)oll A= RAE MRS et
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Kprocedure pop(stack) \
if iIsEmpty(stack) then
print (“Cannot pop. Stack 1s empty.”)
return error() > failed
else

data < stack.items[stack.top]
stack.top « stack.top - 1

return data > stack 1s also updated
end if

Cnd procedure j

—> data4

HHSHE| | O] E

top



/procedure peek(stack) \
top || data4 if isEmpty(stack) then top || data4
data3 print (“Cannot peek. Stack is empty’.’) data3
e > elsl:,turn error() > tailed | datad Jata)
datal return stack.items[stack.top] Hist=| 0| O] E data
e end if +_h
— \end procedure Y A2t = AEK

- peekCHAl tope 2 HI|5H7|x &
ADT of Stack in Ocaml: https://ocaml.org/manual/5.2/api/Stack.html



https://ocaml.org/manual/5.2/api/Stack.html
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(A+ (B*C-D)+E) - (F+G) /H

Example :



